0, 125, 250, 375, 500, 625, 750, 875, 1000 x = = = =
Drei, 5 und 9 Farbstufen, numerisches BerechnungsbeispielScBthmhﬂN@OwScBmmmmweMelWWBLOGvU [50/log(S)] log(¥/Yy )+50, Yn=4, Yy =20, Yiy =100

0,00 | 0,50 0,00
0,00 | 0,50 | 1,00 0 0,50 | 1,00 0,50
0,00 | 050 | 1,00 0,00 | 0,25 075 | 1,00 0,00 037

NOOw  NO8w  N16w NOOw  NO4w N12w  Nlew NOOw  NO2w NO6w

0,00 0.50 1,00 0,00 0,50 5 0.50 100 0,00 0,50
0,00 0,50 1,00 0,00 0,25 0,75 1,00 0,00 0,12
0 50 100 0 25 50 75 100 0 12

hgz10-7n, Priifmuster: 3, 5 und 9 Farbstufen, greu=0,500, expu=1,000, expa=1,000




